O
ICOM

Foreword

Thank you for purchasing the AH-8000 SUPER WIDE BAND
OMNIDIRECTIONAL ANTENNA. This antenna covers 100 ~ 3300
MHz for reception and 118, 145, 220, 430, 900, 1200, 2400
MHz bands for transmission.

Please read these instructions thoroughly before using the
AH-8000.

B Precautions

/A DANGER! AH-8000 installation is intended for
professional installation only. We are not responsible for
any building breakage, any damage resulting from a drop of
the antenna from a high place or unstable site, or resulting
from any personal injury nor any accident in any other case.
Be sure to consult an expert engineer for installations.

/A DANGER HIGH RF VOLTAGE! NEVER touch the
antenna element while transmitting or tuning. This could
cause an electrical shock or burn.

/A DANGER HIGH RF VOLTAGE! NEVER install the
antenna at any place that person easily touch the antenna
while transmitting or tuning. This could cause an electrical
shock or burn.

/A WARNING! NEVER use the antenna during a lightning
storm. It may result in an electric shock, cause a fire or
damage the antenna. Always disconnect the power source
and antenna before a storm.

/A WARNING NEVER assemble or disassemble the
antenna in any crowded area. A person may be injured.

CAUTION: DO NOT use harsh solvents such as Benzine
or alcohol to clean the antenna, as they can damage the
antenna’s surfaces. If the antenna becomes dusty or dirty,
wipe it clean with a dry, soft cloth.

DISCONNECT the antenna when not using the antenna for
a long period of time.

AH-8000

Below statement is for UKCA purpose only

United Kingdom Authorised Importer: lcom (UK) Ltd.

Address: Blacksole House, Altira Park, Herne Bay, Kent, CT6
6GZ, U.K.

INSTRUCTIONS
/ BURERAE

HEUHIC

CORUFARHBEBBEVWLIFVWCEET LT R LITHDHH
EDTEVET,

(. 100MHz ~3300MHzDZE®EICINA . 118MHz.
145MHz, 220MHz. 430MHz., 900MHz, 1200MHz,
2400MHz/\> RTOXEBTEDBLTE 7T F T,

REPCERADRIC. COHFEEZ LK BTPFVCEE ARBD
HEEZE T DREBLU TV ELEBIC KRR CERALLEESVET L
DBRVBRLLEITRT,

WL LDOTER

[T=IcD1T)

FETIEDE. BEYDHIE. SPPEEDEBRWVEI COEEICH IR
DETRPIDEUCTECEDES. FEFZOMBDEDLIHTEEICH
WTH, SitlF—DEAEEVNFEADT. BSNUHTT RS,
BB, BRPEEDEVERCEDNHIFBUEDDDIBE FEEROEEL
FITDT. BFBPIEE(CTHEH<ZEL,

TRORBEER. CNESELTESRD
A B8 He |[RUETZEEREBIOAERDAN. L

= [ (FRESEESTHEMEIEESNINE]E
TRUTWVET,

ORERIFIEHCT T F ICHNEVNTL RS,
Fle . BRICADMNZISFRICIHIEFICERB UV TLEE L,
EEROT VT FIIEBEBEKV)ICIED T END Do, KEB.
(IO BEORRICKED I ENGDET,
OTERDFEEETSHEVE.FHOEREICKEDET,
O BIEDALEFRECAT RELEZ UEWLTLIEE L,
o \DBETZEIFEIFDBAICIF. REBUEWLTLEE L,
OTERDFEEETSHEVE. THPHEDERICKDET,
O HEDARET DB PALEIFBIICF. FREULFVNTLEE 0,
O BEDARETHBHPERLLTVEHIE. (P VTFFIYA~
BELCIRERULENTL IS,
OTEDEEZETSFEVNE NK REB MEORRAICEDFET,
o T —JILDLICEVDBDZH D . HATZD LIFWLWTL
ZEL
o FEh T —J)LaBEB([CHIF =D . Alo/eh. . 5lo3k>/eDh. M
#MUIED LTV TLIEEL,

ORERCPEERDIEL ICIF REBULEVTLIEE L,
ARBDOT —TI)IVEEDMN, 23— FPFEERICK D REBOMNK
DRAICEDET,

OFDIBEOH U S. 7 VT PR — FIVICIX. 3 (CAENIE
WTLIEEL,
REBOFRRAICEDET,

TROZHEEE. CNEEELTESED
A 3 = [RUETBE[ANSEEESTEENEES
1T 2 | namm. sLUYMMEERFORENERS
NARBIERLTVET,
O ENIEDHLIES. BHTOREELE LIENTL ZEL,
W REBOREICHED T EHBDET.
O BELRD . BVEEESZ D LEVWTL EEL,
3 H, EREDREICES T EHaDE T,
O FUEPSYZDEL THEALBEVNTL EE,
EREEESX 0. S0 T BRAECED T ENBDET,

Icom and the Icom logo are registered trademarks of Icom
Incorporated (Japan) in Japan, the United States, the United
Kingdom, Germany, France, Spain, Russia, Australia, New
Zealand, and/or other countries.

774 1/, ICOM, ICOMOIE, 7+ JILMREHDEREIRTY

KEORED—EB. FlclEEBZRITCERE/ARATHILEF, BlESNT
W&Ed,

Ilcom Inc.
1-1-32 Kamiminami, Hirano-ku, Osaka 547-0003, Japan

Sep. 2022

AB664X-1G-2 Printed in Japan
© 2008-2022 Icom Inc.



Supplied items/1ZE£EE R R

(D Antenna base with bracket pipe
(@ Disk elements (long and short)

(®Nuts (M4: for disk elements)
@ Cone elements (long and short)
(®Set screws
®Allen wrench
@ Mounting bracket

(®V-bolt sets (including spring washers and nuts) ...

®Screws (PH M5x15)
(ONuts (M5)

@ Antenna cable with type-N connectors (15 m: 4.9 ft)

............. 1 QP VFTFIR=R(TST v b ATZD)
.... 4each @FT A RTIUXAY (L, S) wrovverrrrrrsrsssr
............. 8 @F v b MEFTARITUXY R coeeeeeeeeees
.... 4each @O—VTIUXY (L ) rrovrrrrrrrrereee
............. 8 ®EDRHFRI(MAXB) +veevrerevrsmemenrees
_____________ 1 VLT e
... 2sets DEIDREHF TS W N oo
2 sets ®VIRILEY MST Y Yy . F v hED)
_____________ 2 @RI (PH MBX 15)  crrrrrrrrrrmmmimiiii
............. 2 0Ty B (MB) rrvvrrerreessssisiisisiii
...... 1 OF#T—J)U(NBEIOR T & —{FE:15m)

Assembling the antenna/7’ >/ 73 D HII T

(3 Attach the Disk elements (long and
short) to the Antenna base through
the nuts (M4), and fix the elements

QOFARIIUXAUN L) E(S) B
DFvs (M) ZEDRIFTHhS. 77

with the nuts. See the illustration EULFET,
below for attaching order. X TRESR

L UFFAR=RICRDS T YNCE

N/ Fob /\

Disk element (short)/
TARTIUXUNS)

(@ Remove 3 screws on the Mounting pipe, and
separate the Antenna base from the pipe. Pass
the antenna cable through the pipe, as shown to

Disk element (long)/

= < Allen wrench/
FAATTUXUNL) BT

-
7/

Antenna base/
FUTFNR=R

the left, and then connect it to the Antenna base.

OWOMNF/ A TDRIBRZFFLTCT VT FR—=R
ZEDIFTULET . ERDKIIC RO E T —T

(@ Attach the Cone elements (long and
short) to the Antenna base, and fix the
elements with the Set screws. See the
illustration below for attaching order.

@O—VIUXAVNL)ES) BT
N—2(CEOF T AFBDEDfF TR
JTEELFET,

X TR

Cone element (long)/——e
O—VILXVNL)
(1017 mm: 40"42 in)

Cone element (short)/
O—YIIXVNS)
(812 mm: 313V32 in)

Set screw/
WORHFRY
Mounting bracket/
BOAHF TS vk
Nut/ @4
Foh TN :

(M5) =
1 1~~~ 25-50 mm
I_ (1-2 inches)
N

Screw/=3J(PH M5x15)

RO I)A TISBU TP T FN—=RICEO S
PESE

@ Attach the Mounting bracket to the Mounting pipe,
and then fix it to a pole using the V-bolts.
The pole diameter should be 25 to 50 mm
(1 to 2 inches).

GONBOWMDAIFT TSy NEROMIT) A TICEO S
[F IBOVIRVNEES THAECEELE T,
7T EERE S HXAEF EEN25mmM~50mm
DHDEEALZEL,

Type-N connector/
NEIORT 5 —

Antenna cable/

B —2)

Order of element attachment/
IUXAVROEDFFIEICDOWNT

Attach the cone/disk elements in
order, long and short alternately.
O—VBROTARITUXUNE,
(L) &(S) MR EITHSKDITED AT
[FTLrEEy,

S

Disk elements (long)
/T4 AT TUAVNL)
(340 mm: 13348 in)

& Cone element (long)/
J—VTUXAVNL)
(1017 mm: 4042 in)

Cone elements (short)/

Disk elements (short)/
TARIIUAVNS)
(270 mm:

The Type-N connector can be removed from the
antenna cable if necessary to pass the cable through a
hole for installation.

Be sure to firmly reattach the connector before
connecting it to a transceiver or receiver, and check
that it is not loose.

BT —TIVONBEIRI S —(E. T —TILERITEL
THRETDCHICHMECIHUTT—TILh SIS
BEI,

RN/ REMERRITDEE L M ITNEART Y —T=

105 in)
ORI DA TWVEWNC EZERUTLIEE L,

¢ Frequency coverage (Unit: MHz):

RX
X

100 ~ 3300
118 ~ 137, 144 ~ 148, 222 ~ 225,
430 ~ 450, 902 ~ 928, 1240 ~ 1300,
2300 ~ 2450

: Omnidirectional Discone antenna

: 3 dBi (maximum)

¢ Antenna connector  : Type-N (50 Q: nominal)

* Maximum input power : 200 W

* Total antenna height :936 mm (+10 mm): 3 ft (+'342 in)

* Weight (approximate) : 970 g (+20 g): 2 Ib 2 0z (+23452 02)
(except antenna cable)

: 50 m/sec.: 97.2 kt: 111.8 mph

All stated specifications are subject to change without notice or obligation.

* Type of antenna
* Gain

* Wind resistance

o FREN T (B - MHz) :
28 100~3300
X5 118~137. 144~148.
222~225. 430~450,
902~928. 1240~1300.
2300~2450
 idsae CEEAET A R IV T VTS
T IUTFHHFALY : 3dBi(BX)
o7 VT FARIF—RAK - NEI(500)
ORAANEN 1 200W GXERTRERIREFIHAICRE D)
L) 1 936mm (%= 10mm)
O EE 1 #9970g(x20g/EEm — T IUERL)
offf R : 50m/sec.

KEM N ARE LI ARDCS . PEFLEET DI LN HDET,

P1ILKKER
B47-0003 ABRAIFEHX IR |-1-32




